



An extension of the Hermite–Hadamard inequality for convex and s -convex functions

PÉTER KÓRUS 

Abstract. The Hermite–Hadamard inequality was extended using iterated integrals by Retkes [Acta Sci Math (Szeged) 74:95–106, 2008]. In this paper we further extend the main results of the above paper for convex and also for s -convex functions in the second sense.

Mathematics Subject Classification. Primary 26A51, 26D15.

Keywords. Convex functions, s -convex functions, Hermite–Hadamard inequality.

1. Introduction

For a convex function $f : [a, b] \subseteq \mathbb{R} \rightarrow \mathbb{R}$, the well-known Hermite–Hadamard inequality states the following for any $a < x_1 < x_2 < b$:

$$f\left(\frac{x_1 + x_2}{2}\right) \leq \frac{1}{x_2 - x_1} \int_{x_1}^{x_2} f(x) dx \leq \frac{f(x_1) + f(x_2)}{2}.$$

This inequality was extended by Retkes [6].

Theorem 1.1. [6] *Let $f : [a, b] \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a convex function, $x_i \in (a, b)$, $i = 1, \dots, n$, such that $x_i \neq x_j$ if $1 \leq i < j \leq n$. Then the following inequality holds:*

$$\sum_{i=1}^n \frac{F^{(n-1)}(x_i)}{\Pi_i(x_1, \dots, x_n)} \leq \frac{1}{n!} \sum_{i=1}^n f(x_i)$$

where $F^{(j)}$ is the j -th iterated integral of f and

$$\Pi_i(x_1, \dots, x_n) = \prod_{\substack{j=1 \\ j \neq i}}^n (x_i - x_j).$$

In the concave case “ \leq ” is changed to “ \geq ”.

The Hermite–Hadamard inequality has been extended in several ways besides the previous theorem. One way is to change the convexity condition to general convexity (see for example [5, 8]). We consider the well-studied concept of

s -convex functions, which are defined on an interval of $\mathbb{R}_0^+ = [0, \infty)$.

Definition 1.2. [1, 4] Let $s \in (0, 1]$ be a fixed number. A function $f : [a, b] \subseteq \mathbb{R}_0^+ \rightarrow \mathbb{R}$ is said to be s -convex (in the second sense) if

$$f(px_1 + (1 - p)x_2) \leq p^s f(x_1) + (1 - p)^s f(x_2)$$

holds for any $x_1, x_2 \in [a, b]$ and $p \in [0, 1]$.

The appropriate extension regarding this type of functions is due to Dragomir and Fitzpatrick.

Theorem 1.3. [3] Suppose that $f : [a, b] \subseteq \mathbb{R}_0^+ \rightarrow \mathbb{R}$ is an s -convex function, where $s \in (0, 1]$, and let $x_1, x_2 \in [a, b]$ with $x_1 < x_2$. Then the following inequality holds:

$$2^{s-1} f\left(\frac{x_1 + x_2}{2}\right) \leq \frac{1}{x_2 - x_1} \int_{x_1}^{x_2} f(x) dx \leq \frac{f(x_1) + f(x_2)}{s + 1}.$$

2. Main results

We extend Theorem 1.3 in the spirit of Theorem 1.1.

Theorem 2.1. Let $f : [a, b] \subseteq \mathbb{R}_0^+ \rightarrow \mathbb{R}$ be an s -convex function, where $s \in (0, 1]$, and $x_i \in (a, b)$, $i = 1, \dots, n$, such that $x_i \neq x_j$ if $1 \leq i < j \leq n$. Then the following inequality holds:

$$\frac{n^s}{n!} f\left(\frac{\sum_{i=1}^n x_i}{n}\right) \leq \sum_{i=1}^n \frac{F^{(n-1)}(x_i)}{\Pi_i(x_1, \dots, x_n)} \leq \frac{\Gamma(s + 1)}{\Gamma(s + n)} \sum_{i=1}^n f(x_i). \tag{2.1}$$

In the s -concave case, " \leq " are changed to " \geq ".

In the case of $s = 1$, an extension of Theorem 1.1 is obtained.

Corollary 2.2. Let $f : [a, b] \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a convex function, $x_i \in (a, b)$, $i = 1, \dots, n$, such that $x_i \neq x_j$ if $1 \leq i < j \leq n$. Then

$$\frac{1}{(n - 1)!} f\left(\frac{\sum_{i=1}^n x_i}{n}\right) \leq \sum_{i=1}^n \frac{F^{(n-1)}(x_i)}{\Pi_i(x_1, \dots, x_n)} \leq \frac{1}{n!} \sum_{i=1}^n f(x_i).$$

In the concave case, " \leq " are changed to " \geq ".

3. Proofs

To prove our theorems, we need three lemmas.

Lemma 3.1. [2] *For any $f : [a, b] \subseteq [0, \infty) \rightarrow \mathbb{R}$, the following statements are equivalent:*

- (1) f is an s -convex function on $[a, b]$.
- (2) For every $x_1, \dots, x_n \in [a, b]$ and non-negative real numbers p_1, \dots, p_n with $\sum_{i=1}^n p_i = 1$, we have that

$$f\left(\sum_{i=1}^n p_i x_i\right) \leq \sum_{i=1}^n p_i^s f(x_i).$$

Lemma 3.2. [6, Lemma] *Let $f : [a, b] \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a continuous function and $x_i \in (a, b)$, $i = 1, \dots, n$, such that $x_i \neq x_j$ if $1 \leq i < j \leq n$. Then*

$$\int_{H_{n-1}} \dots \int f\left(x_n - \sum_{i=1}^{n-1} p_i(x_n - x_i)\right) dp_1 \dots dp_{n-1} = \sum_{i=1}^n \frac{F^{(n-1)}(x_i)}{\Pi_i(x_1, \dots, x_n)},$$

where

$$H_n = \left\{ (p_1, \dots, p_n) \in \mathbb{R}^n : 0 \leq p_i \leq 1, i = 1, \dots, n \wedge \sum_{i=1}^n p_i \leq 1 \right\}.$$

Lemma 3.3. *Let $f : [a, b] \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a continuous function and $x_i \in (a, b)$, $i = 1, \dots, n$, such that $x_i \neq x_j$ if $1 \leq i < j \leq n$. Then*

$$\int_{H_{n-1}} \dots \int p_i^s dp_1 \dots dp_{n-1} = \frac{\Gamma(s+1)}{\Gamma(s+n)} \tag{3.1}$$

and

$$\int_{H_{n-1}} \dots \int \left(1 - \sum_{i=1}^{n-1} p_i\right)^s dp_1 \dots dp_{n-1} = \frac{\Gamma(s+1)}{\Gamma(s+n)}. \tag{3.2}$$

Proof. Due to symmetry, without loss of generality, we can assume that in (3.1) we have $i = 1$. By Fubini’s theorem,

$$\begin{aligned} & \int_{H_{n-1}} \dots \int p_1^s dp_1 \dots dp_{n-1} \\ &= \int_0^1 \int_0^{1-p_{n-1}} \dots \int_0^{1-p_{n-1}-\dots-p_2} (1 - p_{n-1} - \dots - p_1)^s dp_1 \dots dp_{n-1} \\ &= \frac{1}{s+1} \int_0^1 \int_0^{1-p_{n-1}} \dots \int_0^{1-p_{n-1}-\dots-p_3} (1 - p_{n-1} - \dots - p_2)^{s+1} dp_2 \dots dp_{n-1} \end{aligned}$$

$$\begin{aligned}
 &= \frac{1}{(s+1)(s+2)} \int_0^1 \int_0^{1-p_{n-1}} \cdots \int_0^{1-p_{n-1}-\dots-p_4} (1-p_{n-1}-\dots-p_3)^{s+2} dp_3 \dots dp_{n-1} \\
 &\vdots \\
 &= \frac{1}{(s+1)\cdots(s+n-2)} \int_0^1 (1-p_{n-1})^{s+n-2} dp_{n-1} \\
 &= \frac{\Gamma(s+1)}{\Gamma(s+n)}.
 \end{aligned}$$

Similarly,

$$\begin{aligned}
 &\int_{H_{n-1}} \cdots \int \left(1 - \sum_{i=1}^{n-1} p_i\right)^s dp_1 \dots dp_{n-1} \\
 &= \int_0^1 \int_0^{1-p_{n-1}} \cdots \int_0^{1-p_{n-1}-\dots-p_2} (1-p_{n-1}-\dots-p_1)^s dp_1 \dots dp_{n-1} \\
 &= \frac{1}{s+1} \int_0^1 \int_0^{1-p_{n-1}} \cdots \int_0^{1-p_{n-1}-\dots-p_3} (1-p_{n-1}-\dots-p_2)^{s+1} dp_2 \dots dp_{n-1},
 \end{aligned}$$

and we can obtain (3.2). □

Proof of Theorem 2.1. We start with the left hand side of (2.1). From the s -convexity of f , by Lemma 3.1, we have for any $y_i \in [a, b]$, $i = 1, \dots, n$ that

$$f\left(\frac{\sum_{i=1}^n y_i}{n}\right) \leq \frac{\sum_{i=1}^n f(y_i)}{n^s}. \tag{3.3}$$

Putting

$$\begin{aligned}
 y_1 &:= p_1x_2 + p_2x_3 + \dots + p_{n-1}x_n + (1-p_1-\dots-p_{n-1})x_1 \\
 y_2 &:= p_1x_3 + p_2x_4 + \dots + p_{n-1}x_1 + (1-p_1-\dots-p_{n-1})x_2 \\
 &\vdots \\
 y_n &:= p_1x_1 + p_2x_2 + \dots + p_{n-1}x_{n-1} + (1-p_1-\dots-p_{n-1})x_n
 \end{aligned}$$

and integrating both sides of (3.3) with respect to p_1, \dots, p_{n-1} over H_{n-1} yields the following. For the left hand side:

$$\begin{aligned} & \int \cdots \int_{H_{n-1}} f\left(\frac{\sum_{i=1}^n y_i}{n}\right) dp_1 \cdots dp_{n-1} \\ &= \int \cdots \int_{H_{n-1}} f\left(\frac{\sum_{i=1}^n x_i}{n}\right) dp_1 \cdots dp_{n-1} \\ &= V(H_{n-1}) f\left(\frac{\sum_{i=1}^n x_i}{n}\right) = \frac{1}{(n-1)!} f\left(\frac{\sum_{i=1}^n x_i}{n}\right), \end{aligned}$$

since $V(H_n)$, the volume of the n -dimensional tetrahedron H_n , is equal to $\frac{1}{n!}$ ([6]). For the right hand side, using Lemma 3.2, we get

$$\begin{aligned} & \int \cdots \int_{H_{n-1}} \frac{\sum_{i=1}^n f(y_i)}{n^s} dp_1 \cdots dp_{n-1} \\ &= \frac{1}{n^s} \sum_{i=1}^n \int \cdots \int_{H_{n-1}} f(y_i) dp_1 \cdots dp_{n-1} \\ &= \frac{1}{n^s} \sum_{i=1}^n \int \cdots \int_{H_{n-1}} f\left(x_i - \sum_{j=1}^{n-1} p_j(x_i - x_{i+j}^*)\right) dp_1 \cdots dp_{n-1} \\ &= \frac{n}{n^s} \sum_{i=1}^n \frac{F^{(n-1)}(x_i)}{\prod_i(x_1, \dots, x_n)}, \end{aligned}$$

where x_k^* denotes x_l for which $k \equiv l \pmod{n}$. Thus

$$\frac{1}{(n-1)!} f\left(\frac{\sum_{i=1}^n x_i}{n}\right) \leq \frac{n}{n^s} \sum_{i=1}^n \frac{F^{(n-1)}(x_i)}{\prod_i(x_1, \dots, x_n)},$$

and the left hand side of (2.1) is obtained.

Now we prove the right hand side of (2.1). From the s -convexity of f , by Lemma 3.1, we have that

$$f\left(\sum_{i=1}^{n-1} p_i x_i + \left(1 - \sum_{i=1}^{n-1} p_i\right) x_n\right) \leq \sum_{i=1}^{n-1} p_i^s f(x_i) + \left(1 - \sum_{i=1}^{n-1} p_i\right)^s f(x_n)$$

holds for all $(p_1, \dots, p_{n-1}) \in H_{n-1}$. Integrating both sides over H_{n-1} , using Lemma 3.3, gives

$$\begin{aligned} & \int \cdots \int_{H_{n-1}} f\left(x_n - \sum_{i=1}^{n-1} p_i(x_n - x_i)\right) dp_1 \cdots dp_{n-1} \\ & \leq \int \cdots \int_{H_{n-1}} \left\{ \sum_{i=1}^{n-1} p_i^s f(x_i) + \left(1 - \sum_{i=1}^{n-1} p_i\right)^s f(x_n) \right\} dp_1 \cdots dp_{n-1} \end{aligned}$$

$$\begin{aligned}
 &= \sum_{i=1}^{n-1} f(x_i) \int \cdots \int_{H_{n-1}} p_i^s dp_1 \dots dp_{n-1} \\
 &\quad + f(x_n) \int \cdots \int_{H_{n-1}} \left(1 - \sum_{i=1}^{n-1} p_i\right)^s dp_1 \dots dp_{n-1} \\
 &= \frac{\Gamma(s+1)}{\Gamma(s+n)} \sum_{i=1}^n f(x_i),
 \end{aligned}$$

whence Lemma 3.2 concludes the proof. □

4. Applications

We remark the consequence that for s -convex functions which are concave, the following inequalities hold due to Theorem 2.1 (and Corollary 2.2):

$$\begin{aligned}
 \frac{n^s}{n!} f\left(\frac{\sum_{i=1}^n x_i}{n}\right) &\leq \sum_{i=1}^n \frac{F^{(n-1)}(x_i)}{\Pi_i(x_1, \dots, x_n)} \leq \frac{1}{(n-1)!} f\left(\frac{\sum_{i=1}^n x_i}{n}\right), \\
 \frac{1}{n!} \sum_{i=1}^n f(x_i) &\leq \sum_{i=1}^n \frac{F^{(n-1)}(x_i)}{\Pi_i(x_1, \dots, x_n)} \leq \frac{\Gamma(s+1)}{\Gamma(s+n)} \sum_{i=1}^n f(x_i).
 \end{aligned}$$

For example, if we take $f : \mathbb{R}_0^+ \rightarrow \mathbb{R}$, $f(x) = x^s$ for an arbitrarily fixed $0 < s < 1$, we get

$$\begin{aligned}
 \frac{1}{n!} \left(\sum_{i=1}^n x_i\right)^s &\leq \frac{\Gamma(s+1)}{\Gamma(s+n)} \sum_{i=1}^n \frac{x_i^{s+n-1}}{\Pi_i(x_1, \dots, x_n)} \leq \frac{1}{n^s(n-1)!} \left(\sum_{i=1}^n x_i\right)^s, \\
 \frac{1}{n!} \sum_{i=1}^n x_i^s &\leq \frac{\Gamma(s+1)}{\Gamma(s+n)} \sum_{i=1}^n \frac{x_i^{s+n-1}}{\Pi_i(x_1, \dots, x_n)} \leq \frac{\Gamma(s+1)}{\Gamma(s+n)} \sum_{i=1}^n x_i^s.
 \end{aligned}$$

If we take $x_i = i$, $i = 1, \dots, n$, the inequalities read as

$$\begin{aligned}
 \frac{\Gamma(s+n)}{\Gamma(s+1)} \cdot \frac{n^s(n+1)^s}{2^s} &\leq \sum_{i=1}^n (-1)^{n-i} \binom{n}{i} i^{s+n} \leq \frac{\Gamma(s+n)}{\Gamma(s+1)} \cdot \frac{n(n+1)^s}{2^s}, \\
 \frac{\Gamma(s+n)}{\Gamma(s+1)} \sum_{i=1}^n i^s &\leq \sum_{i=1}^n (-1)^{n-i} \binom{n}{i} i^{s+n} \leq n! \sum_{i=1}^n i^s
 \end{aligned}$$

since

$$\Pi_i(1, \dots, n) = (-1)^{n-i} (i-1)! (n-i)!.$$

If we take $x_i = \frac{1}{i}$, $i = 1, \dots, n$, the inequalities become

$$\frac{\Gamma(s+n)}{\Gamma(s+1)n!} H_n^s \leq \sum_{i=1}^n (-1)^{i-1} \binom{n}{i} \frac{1}{i^s} \leq \frac{\Gamma(s+n)}{\Gamma(s+1)n^s(n-1)!} H_n^s,$$

$$\frac{\Gamma(s+n)}{\Gamma(s+1)n!} \sum_{i=1}^n \frac{1}{i^s} \leq \sum_{i=1}^n (-1)^{i-1} \binom{n}{i} \frac{1}{i^s} \leq \sum_{i=1}^n \frac{1}{i^s}$$

since

$$\Pi_i\left(\frac{1}{1}, \dots, \frac{1}{n}\right) = (-1)^{n-1} \frac{\Pi_i(1, \dots, n)}{i^{n-2} n!} = (-1)^{i-1} \frac{(i-1)!(n-i)!}{i^{n-2} n!} = \frac{(-1)^{i-1}}{\binom{n}{i} i^{n-1}}$$

due to [7].

Acknowledgements

Open access funding provided by the University of Szeged (SZTE).

Open Access. This article is distributed under the terms of the Creative Commons Attribution 4.0 International License (<http://creativecommons.org/licenses/by/4.0/>), which permits unrestricted use, distribution, and reproduction in any medium, provided you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons license, and indicate if changes were made.

Publisher's Note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.

References

- [1] Breckner, W.W.: Stetigkeitsaussagen für eine Klasse verallgemeinerter Konvexer funktionen in topologischen linearen Räumen. *Publ. Inst. Math.* **23**, 13–20 (1978)
- [2] Chen, X.: New convex functions in linear spaces and Jensen's discrete inequality. *J. Inequal. Appl.* **2013**, 472 (2013)
- [3] Dragomir, S.S., Fitzpatrick, S.: The Hadamard's inequality for s -convex functions in the second sense. *Demonstr. Math.* **32**(4), 687–696 (1999)
- [4] Hudzik, H., Maligranda, L.: Some remarks on s -convex functions. *Aequat. Math.* **48**, 100–111 (1994)
- [5] Özdemir, M.E., Yıldız, Ç., Akdemir, A.O., Set, E.: On some inequalities for s -convex functions and applications. *J. Inequal. Appl.* **2013**, 333 (2013)
- [6] Retkes, Z.: An extension of the Hermite–Hadamard inequality. *Acta Sci. Math. (Szeged)* **74**, 95–106 (2008)
- [7] Retkes, Z.: Applications of the extended Hermite–Hadamard inequality. *J. Inequal. Pure Appl. Math. (JIPAM)* **7** (1) (2006), article 24
- [8] Xi, B.-Y., Qi, F.: Inequalities of Hermite–Hadamard type for extended s -convex functions and applications to means. *J. Nonlinear Convex Anal.* **16**(5), 873–890 (2015)

Péter Kórus
Department of Mathematics, Juhász Gyula Faculty of Education
University of Szeged
Hattyas utca 10
Szeged 6725
Hungary
e-mail: korpet@jgypk.szte.hu

Received: February 3, 2018